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BACHELOR’S DEGREE PROGRAMME 
(BDP)  
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(ELECTIVE COURSE : ECONOMICS)  
EEC-014 : AGRICULTURAL DEVELOPMENT  

IN INDIA 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt questions from each Section as per 

instruction given. 

Section—A 
(Long Answer Type Questions) 

Note : Answer any two questions from this  
Section. 2×20=40 

1. What do you mean by ceiling on land holdings ? 

What was its objective ? To what extent, the 

objective of ceiling on holding was achieved ? 

What led to its failure ? Why is the 

maintenance of up-to-date land records so 

important ? 
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2. (a) What is cropping intensity ? What are the 

measures for raising cropping intensity ? 

 (d) Distinguish between the following : 

  (i) double cropping and mixed cropping 

  (ii) double cropping and sequence 

cropping 

  (iii) mono-cropping and multiple cropping 

3. Comment on the role of technological 

improvements in promoting the growth of 

agricultural productivity in India. Bring out 

five positive effects of HYV Technology in India. 

4. What is the rationale of providing subsidies to 

the farmers ? What are the different forms in 

which subsidies can be given to farmers ? Does 

India provide a higher agricultural subsidy 

than the developed countries ? 



 [ 3 ] EEC-014 

  P. T. O. 

Section—B 
(Medium Answer Type Questions) 

Note : Answer any four questions from this  
Section. 4×12=48 

5. What is the purpose of agro-climatic zoning ? 

Which are the four major agro-economic regions 

in India ? 

6. Contrast minor irrigation with major irrigation 

with respect to capacity utilisation, gestation 

lag and investment cost. What are 

environmental impacts of major irrigation 

projects ? 

7. Bring out the complementary nature of private 

and public sector investments in agriculture. 

8. What are the activities allied to agriculture in 

rural India ? Evaluate their importance. 

9. What are the effects of high foodgrain prices ? 

What is the need for setting different prices for 

APL and the BPL ? Has this targetted Public 

Distribution System (PDS) benefitted the 

country ? 
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10. What are the benefits rendered by forests ? 

What are the basic elements considered in a 

forest policy ? 

Section—C 
(Short Answer Type Questions) 

Note : Answer any two parts from this  
Section. 2×6=12 

11. (i) What do you mean by co-operative  

farming ? 

 (ii) How will you assess the importance of 

agriculture in an economy ? 

 (iii) State the distinctive features of agro-based 

industry in India. 

 (iv) What are the important measures taken by 

the government towards the development 

of fisheries ? 
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Lukrd mikf/ dk;ZØe (ch-Mh-ih-) 

l=kkar ijh{kk 

twu] 2021 

(,sfPNd ikB~;Øe % vFkZ'kkL=k) 

bZ-bZ-lh--014 % Hkkjr esa Ñf"kd fodkl 

le; % 3 ?k.Vs     vf/dre vad % 100 

uksV % izR;sd Hkkx ls funsZ'kkuqlkj iz'uksa ds mÙkj fyf[k,A 

 
 Hkkx&d  

(nh?kZ mÙkjh; iz'u) 

uksV % bl [k.M ls fdUgha nks iz'uksa ds mÙkj fyf[k,A 
  2×20=40 

1- Hkw&/kj.k ij lhek ls vki D;k le>rs gSa \ bldk 

D;k mís'; Fkk \ bl lhek fu/kZj.k dk è;s; dgk¡ rd 

iwjk gks ik;k gS \ blesa foiQyrk ds D;k dkj.k jgs \ 

Hkw&/kj.k [kkrksa dks lnSo v|ru (uohure) j[kus dk 

D;k egRo gksrk gS \ 
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2- (d) iQly xgurk D;k gS \ iQly xgurk c<+kus ds 

D;k mik; gSa \ 

 ([k) fuEufyf[kr esa Hksn Li"V dhft, % 

  (i) nksgjh iQly vkSj fefJr iQly iz.kkyh 

  (ii) nksgjh iQly vkSj Øeokj iQly iz.kkyh 

  (iii) ,dy iQly vkSj cgq&iQly iz.kkyh 

3- Hkkjr esa Ñf"k mRikfnrk o`f¼ esa rduhdh lq/kjksa dh 

Hkwfedk ij fVIi.kh dhft,A Hkkjr esa HYV izkS|ksfxdh 

ds ik¡p ldkjkRed izHkkoksa dks Li"V dhft,A 

4- Ñ"kdksa dks lkgkÕ; iznku djus dk D;k rdkZ/kj gS \ 

fdlkuksa dks ;s lkgkÕ; fdl :i esa fn, tkrs gSa \ 

D;k Hkkjr fodflr ns'kksa dh rqyuk esa vf/d Ñf"k 

lkgkÕ; ns jgk gS \ 

 Hkkx&[k  

(eè;e mÙkjh; iz'u) 

uksV %  bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj fyf[k,A 
                              4×12=48 

5- Ñf"k&tyok;q {ks=kksa ds fu/kZj.k dk D;k mís'; gksrk  

gS \ Hkkjr esa pkj cM+s Ñf"k&tyok;q {ks=k dkSu&ls gSa \ 



 [ 7 ] EEC-014 

  P. T. O. 

6- {kerk iz;ksx] fuekZ.k dky vkSj fuos'k ykxr ds lUnHkZ 

esa y?kq ,oa ògr~ ¯lpkbZ ;kstukvksa dh rqyuk dhft,A 

cM+s ¯lpkbZ izdYiksa ds i;kZrU=k ij D;k izHkko gksrs 

gSa \ 

7- Ñf"k esa futh ,oa lkoZtfud fuos'kksa ds chp 

izfriwjdrk dk Lo:i Li"V dhft,A 

8- xzkeh.k Hkkjr esa Ñf"k vkuq"kkafxd xfrfof/;k¡ D;k gSa \ 

muds egRo dk vkdyu dhft,A 

9- mPp [kk|kUu dherksa ds D;k izHkko gksrs gSa \ xjhch 

js[kk ls Åij vkSj uhps okys oxks± ds fy, 

vyx&vyx dhersa r; djus dh D;k vko';drk  

gS \ D;k bl yf{kr lkoZtfud forj.k iz.kkyh ls ns'k 

dks ykHk gqvk gS \ 

10- ouksa ls gesa D;k ykHk izkIr gksrs gSa \ fdlh ou uhfr 

esa fdu ewy rRoksa ij è;ku fn;k tkrk gS \ 

 Hkkx&x  

(y?kq mÙkjh; iz'u) 

uksV % fdUgha nks Hkkxksa ds mÙkj fyf[k,A 2×6=12 

11- (i) lgdkjh [ksrh ls vki D;k le>rs gSa \ 
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 (ii) vki fdlh vFkZO;oLFkk esa Ñf"k ds egRo dk 

vkdyu dSls djsaxs \ 

 (iii) Hkkjr esa Ñf"k&vk/kfjr m|ksxksa ds fof'k"V 

vfHky{k.k crkb,A 

 (iv) ljdkj us efRL;dh ds fodkl ds fy, D;k 

eq[; mik; viuk, gSa \ 
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